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14.09.2016.  M-CE NR                         +/-  RAZEM  PKL PDF      1   6 Jan Nawrocki           9.0
KP  -0.50  41.11   8  26         Stanisław Łański       9.0 KP  2   3 Jan Jarmuż             4.0 KP 
+1.40  24.27   7  22         Robert Górny           4.0 KP     3   7 Zenon Biczkowski       5.0 KP 
-0.50  16.75   6  20         Andrzej Drzewiecki     5.0 KP  4   1 Józef Palewicz         4.0 KP  +2.40 
16.27   5  18         Andrzej Sielużycki     2.0 KP  5   5 Włodzimierz Maćkowski  1.5 KP  +2.40 
15.42   4  16         Tadeusz Rakoczy        2.0 KP  6  14 Wiesław Paczkowski     5.0 KP  +2.40 
14.29   3  14         Piotr Proporowicz      4.0 KP  7  13 Maciej Wawrzyniak      2.5 KP  +4.80 
11.05   2  13         Jacek Rosenthal.       3.0 KP  8   8 Andrzej Kojro          4.0 KP  -0.50   8.36   1
 12         Michał Kojro           4.0 KP  9  20 Jerzy Wawrzyniak       3.0 KP  +2.40   8.13      11        
Krystyna Wawrzyniak        KP 10  12 Arnold Borkowski               -0.50   5.50      10         Henryk
Adamski             KP     11  19 Jerzy Kowalski        13.0 KP  +1.90   0.65       9         Andrzej
Buczkowski     2.5 KP 12  16 Leszek Hejne           5.0 KP  +1.90  -0.46       8         Tadeusz
Wasilewski     5.0 KP 13   4 Stanisław Ciesielski   5.0 KP  +2.40 -10.48       7         Stefan Pigla   
       4.0 KP 14  18 Edmund Więckowski      1.0 KP  +2.40 -11.76       6         Jerzy Zawalski         
   KP 15  11 Andrzej Karpiński      1.5 KP        -12.52       5         Bogdan Podgajny            KP 16 
17 Elżbieta Rosenthal     1.5 KP  +2.40 -13.60       4         Jerzy Rosenthal        3.0 KP 17  10
Lucyna Gozdek          1.0 KP  -1.00 -20.71       3         Elżbieta Olejnik        .5 KP 18  15 Edmund
Poselt              KP  +1.90 -25.10       2         Adam Gregorowicz       2.0 KP 19   2 Mieczysław
Romanowski  2.0 KP  +1.90 -39.58       1         Lesław Pie�nin         3.0 KP                                   
             Suma WK = 121.0    
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